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Writing an equation of a line given a graph.
A. Use any 2 “good" points on the graph to find the slope, m.
B. Find the y-intercept on the graph, b.

C. Substitute slope for m and y-intercept for b into the equation y = mx + b.
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Writing an equation of a line given TWO points.

A. Use the slope formula to find m.
B. Pick one point, substitute slope form, the point (x, y) and then solve for b.

&< Subs’rnu’re m and b back into the equation.
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Wriﬁng an Equaﬂon of a Line PARALLEL to another and given Momt.
. Given equation should be solved for y (y = mx + b). .
B. Write down the slope of that line. , . |

C. Substitute mand (x, y) in y = mx + b. Solve for b. !
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'es par@ ﬁel?

. Write the equation using the slope and y-intercept.

. Write a line parallel fo the line 'N a linelpé

gllel te the line
2x +y = 3 and passes fhrough the y -5 ond posses through the
| point (-2, 5). 2*“"1‘ po lnT(5 ~2). -2= 3(.5
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5. Wn' a linefl p@rallel to the line 6. Write a line pardlie

% +1] ond passes through the and pcsses
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; xSQbsfifuie the new slope and (x, y) in y = mx + b. Solve for b.
D. Write the equation using m and b.

ite gsegiperpendicular to the 8. Wirite geme perpendicular'to the
% and passes through liney +2 and passes through
1,0). the pom ™6, 5).

S 0=-2iy el i 3(L)+Y

10. Write e perpendicularté the |
liney -1 and posses through |
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